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w''9 states; he does not transgress anything for Chomaytz, whether it
was before the time or after the time

OVERVIEW

The ®n»92 cites a three-way npYonn regarding ynn. The view of "3 is that one
does not transgress the Mok of eating y»n before nod (on N 17y after NXn), or
after noo (if one eats oo 179y 12vw yan). Our NvoIN clarifies the view of w'"A.

- 1311 9399 YANT INYA 195Y 923Y PPRT 573 PPNV 53997 AN
It is the view of o010 that granted according to @''9, one does not transgress

a Y for eating y»mr before the time (on mzn “nx 5"W), nevertheless w" -
= YYD MYY VYN NN MIONT NI NN

Will admit that y»n is forbidden to be eaten from six hours (noon) and
onwards on 5"y (however there is no X2, but he transgresses an 7wy) —

mdoIn proves his conjecture:
= ANNON OY NNNV NN PNV PN (x,1 9789 RNAP P92 21)"1}:2%‘1}:

Since the 71wn stated in the first P92, that we do not burn 7797w 720 (which is

v7an) together with XY 72170 (on 5"W) -
- 215590 14y MIYINS IANY NN AN YWA PANY NTaY XD YWN

Indicating that the 77170 72370 may be burnt by itself (without 7X»Y 7170) in
the sixth hour (the hour before noon), and if y»r is permitted to be eaten

(according to "1 until nightfall), let them eat the 77170 7170 until the night; why
burnt it all!

mooin offers an additional proof that Y1 is 792282 MoK (even according to w'"9) on 5"1y:
= NP NINY INNN ANIND NION NDIIND MONRY NYYN 9INPT I

77 ™ derives from the 7109 (in 3,10 [X] 0™127) which states yan 19y 9980 X that yan is 7°0X2 MOX from Nixn of
9"7y onwards, the time when the 1109 1272 could be brought. w"7 disagrees.
2 This is he view of *01° '3 and Y@ "1 1R 1, because we are not permitted to be XMWY O to ATV NN (even
though it will be destroyed anyway). (1" however argues there and maintains that one can burn them together [the
proof (of Moon however) applies to n"7 as well]). Alternately, ms01n may be referring to the X713 on 2,5 where (the
same) W' states that everyone agrees that we burn w"»y ,7170 av 711720 [we would then be 073 here nX7, instead
of 11R771]. See "7 "0 "R,
? One cannot answer that it needs to be burnt 133972; for why should the 2°»5r insist on burning it, if n"mn it is 20w
TRI72Y 797082, [According to the X1pon of mooIn, however, that it is 7RI NWAY 72°IR2 MOR, it is understood why it
cannot be kept until night, because of the concern 1172%> Xnw [see later this nooIN.]
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And additionally, since the Xn> 12 stated that the following rule, ‘from the time
ynn is forbidden 992R2 it is also forbidden 8372’5 this rule is (only) according
to the p''n (who is *")* -

- YUY NN 1NT TANIND NON INPRY 9 IY N 159N NON PPNV %3957 Y5910
It can be inferred from this statement of the Xn»72 that according to @w''s (who
does not abide by this rule) there is a time where it is 5799982 772X even though it is
not X172 71eN which is after six hours (after noon on 5").

moon will now explain why it is 779282 70K on the afternoon even according to w":
= 199N 1399107 ANIN 479 NOHVY “ynsawn ynwm PON NI “ynvavnn ndy NPT NI

And it is the view of n1voIn that w"1 derives this 72°OX M0°X on MXN IR 5"W
from nawn and pon I8, for the word wnawn indicates that it should be
destroyed, not in the usual manner which one derives benefit from y»n,

meaning eating, but rather it should be destroyed in a different manner -
- ShPnY %395 9N 1WAN NNN 1PIONY Yan

However, it is permitted to use it as fire fuel to ignite it under his cooking
according to w''".

nooIN asks:
- 915’\’):15'\ NNH VYN VYN NTIYN Ty NP0 PYnIvY ’149Y wwAa 1299V 1195 99NN ON)

And if you will say; why, according to @', do we burn y»n on the sixth hour;
let him ignite it slowly under his cooking (since it is X372 70 until nightfall)?

mBDIN answers:
= 13D9N? NNIY 122907 990 v

And one can say; that the 001 decreed that it should not be burnt slowly

* See footnote # 1.
> If according to w"7 it is 7RI 727982 M even YW K, so why is the rule of AXITY MOX 79°9K2 MOXRY YW, only
P"n% IRNX (who is >") it is also according to w" that when the 72°9X% 10X begins (which is at night), there is also
7XI7 MoK (for it is only 3"7°7 who maintains ynn is 78372 2nm). This proves that according to w"1 it is 72982 710X
and 1X3172 70 from M¥R onwards.
® The 77N writes (,2° [R2] Mmw) that 23°nan MRY IN°AwN NWRIT 0172 R, The Xna previously on X,i1 interpreted this
to mean that the 1n°awn 21°0 on PRI 01° means 10D 27¥. The word X (however) divides the day of "7y that the
N°2wn 271 is only after noon. w">y.
" If one would be permitted to rid himself from the y»r (to observe 1n°awn) through eating it (after mxr), the 770
would not have used the term 1 awn (which indicates ridding oneself from the y»n in an unusual manner [this
excludes eating]). We must conclude that 1n*awn excludes 72°0K.
¥ Therefore Y1 on 9", according to W' is 79°982 MOKR but 78172 N (the AR [of N*2wn] is ¥2°wan nnn P0aY).
? See “Thinking it over’.
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because he may eat it (while he is waiting for it to be burnt) -
- 91792 597 1990 5rwan NN ¥PYDAY NN YIYUT 99931 SO 1395 19

And similarly according to 2'';1°9 that it is permitted to burn the nnn ynn

Y>swan (on noo) that is only if it is burnt all together at one time.
£9919) 190193 JUy AYAING NN 799 N NNNDNT 199N XYW XY DN OYN YaN

However he cannot burn it a little at a time, for perhaps he will eat it; since
presumably he maintains Pp7I2 2wy 7pa3x? N, etc.

SUMMARY

v"1 maintains that y»m is 79°282 0K on M¥N MR "7y (which he derives from X
NPawn "A), but it is X372 2N, However the 18317 (of Y2°wan nnn p°on%) must be
done at one time for otherwise there is the concern of 11938> Xaw (which 3" also
agrees to).

THINKING IT OVER

moon asks why is it necessary to burn Ww #yw1a ynm, since it is ARIT2 NN
(according to w"9) let him be byn vyn Y2°wan nnn p°on till the night.”” However
how can mpoIn ask that he should continue burning it until the night, if the mxn of
N°2wn begins at noon; he is obligated to rid himself from y7»n at that time, how can
he keep it until the night?!"*

10 See the X7m3 on X,29, where it states that according to the one who maintains that no92 ynn is X372 20w (which
3"77°7 maintains), one is permitted Y2°wan nrn yan 207 on noo.
'" One cannot say that 3" is not concerned for 11758 X (and therefore it is permitted to burn the ¥*wan nnn yan
even vbyn vyn), for if that is the case why the need to be ynn P72 at all; let him keep his y1r7 (since it is 7XI72 N0N)
and he will be vv» vY? 2°wan nan PO,
"2 This is a 7awn ono and presumably all agree to it (even 3";7). This proof follows Moo view that the reason for
PN NP 72 is 19982 K12 XOW (see 7K 7"7 X,2 n©OMN), therefore it proves that even 3" is concerned for 11738 ®»w and
therefore he can be 12°wan nnn p°on only nnx n22. However according to >"w19 (on 1°P712 7"7 R,2) that the reason of
PN NP 72 is R¥m® 521 8T 922 1Hy N2y XOw, there is no proof that 3'77°7 is 11798 Xnw wn. [According to n1von, there
is no wwn of *"21°"2 since we are 9van the ynn regardless.]
13 See footnote # 9.
' See max now.
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